1) Calculate

3056 + 1962

A S L. ittt e
2) Calculate 3056 — 1962

ANSWELT LT,
3) Calculate 3086 < 7

ANSWeL: Lo T,
4) Calculate 3056 -4

F N 1 L S
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City of London School for Girls

YEAR 7 ENTRANCE EXAMINATION
MATHEMATICS

Sample Questions

S T A1 L= SR
BT (=Y

Instructions:

Do write in pencil

Do try all the questions

If you cannot answer a question, go on to the next one.
Do write your working out in the space near each question

Do not erase your working out as you may get marks for it

Calculators and rulers are NOT allowed
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